B.A./Part-II/Hons./PHIA-IV/2017

B.A. Honours PART-II Examinations, 20
PHILOSOPHY-HONOURS

PAPER-PHIA-IV

Time Allotted: 4 Hours v ' Full Marks: 100

The figures in the margin indicate full marks. 2o T 27 F YT Y07 [ 671
Candidates should answer in their own words . AT e 1T QU ST FFANNT W
and adhere to the word limit as practicable. Bes PRI

Answer Question No. 1 -and six more questions taking two from each Group A, B and C
SR 2P =k o1 5, ¥ @R o (AT 7P 03 e el gwfT elvis Ted e
| Answer any five questions from the following: i 2x5=10
e @-ce 2isfe avis Tex wies ‘
(a) Distinguish between complementary term and contrary term.
*fffofm # 3 Ref sitra e A1k Gt
(b) Whai kind of sentence can we get by denying a self contradictory sentence?
G2fb 72 R AT AT T S A #Aheq A 9
(c) Is the following statement correct?
ffere I 6 @ ¢
@ 5) M = ~ (5) M
(d) What is propositional function? Give an example of it.
FHACATS FIE A  Gbd G0 SwIZg WS |
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(e) What is existential fallacy?
ARG (A1 FICS = 2

(f) Write two limitations of Existential Instantiation (E.I).
E.1 Sfe7 4o Faret @l

(g) Give the jorm of Method of Agreement.
ol "i‘fﬁﬂ I CTANe |

(h) Explaip.the Addition Theorem of calculating probability.
STES] SR QI T TN T

Group-A
em-=

2. (a) What is material - implication? Write the difference between material 2+4
equivalence and logical equivalence.

T%91® 2if$ifE P a9 TFNe TSt ¢ (@feT o W N FEl

(b) Determine whether the following statement forms are tauto'logous, self- 3+3
contradictory or contingent by means of truth table.

FEPIRAG AR Ao AT Fos7e), Fosfen 7t wisifes o A Fwt
0 [pvig.r)l=llp.9)v(p.7)
(i) (po2g)vpv~plalg.(r.~7)

(c) Use truth-table to determine the validity or 1nva11d1ty of the following 3
argument:

If terrorists’ demands are met, then lawlessness will be rewarded. If
terrorists’ demands are not met, then innocent hostages will be murdered. So
either lawlessness will be rewarded or innocent hostages will be murdered.

e MR fEffe Ifeha tvaet 3t starst fd s

T Te@ioeE 7 N 27, OIZE SAETO! 7B A1 T SR 7R A W
=, WWW’EWI AR T SRATFS! FFO I WAl AR
RPN 3 I |
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3. (a) Construct formal proof of validity of the following arguments (Do not use
C.P. or L.P.) (Any three)

afeiRe feeln serte tawor amid s (C.P. [ LP. mem)
(@-Iea o)
i) LoH)-(©28)/.(L-Q)>(H-S)
() (Z22)o(4>4)
(ADA)D(ZDZ)
SASH

(iii) If either Socrates was happily married or else he wasn’t, then Socrates
was a great philosopher. Therefore, Socrates was a great philosopher.

1% 9 W @, DR RIS G 30ea G et el e a1, orga
WFHH e T 7 REw To9d MEFHH gFe w1 wiHfas
IEaot

(iv) If either it will rain tomorrow or it won’t rain tomorrow, then weather

predlctmg is an exact science. Therefore weather predlctlng is an exact
science.

T e 3 =T WA AS W, OIAS TR T 2 Fe s [ |
HOAR ATRETF Sl 2o o R

(b) Prove the invalidity of the following arguments by the method of assigning
truth values.

TP WA mer AR e Jierafm sitare! amid st
i) Eo>(WvP)
(w > 0)-(P> D)

=Sk
Go~H
~0:~D
=T

() Iv(J-K) :
(IvJ)o(L=~M) '
(LD~M):)A(M-~N)

(N>0)- (0> M)
(JDK):)O
-0
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4. (a) What is counter example? Explain with example.
Tz FRLAM A4S Y218 I IR |

(b) Use truth tree method to determine whether the following propositions are
consistent:

FOPI #fafon AR Neoa oo sy et Ko e
_(PHQ)’_PHQaPH_Q
(¢) Use truth tree method to test the validity uf the following argument.

We shall fish if it rains and swim if it does not. Therefore we shall fish or
swim. -

SRl MR 499 T R T @k wE Ao Fibe 1 ©f 7 71 SR SRRl AR
433 W31 Aol 61

(d) Determine whether the following statements are equivalent:

e el il et fdy s
- (4> B), 4&- B

5. (a) Explain with an example the method of Conditional Proof.
{6 TRIZACH HIRIC NS S 7S Y11 T

(b) Use the method of Conditional Proof to prove the validity of the following
argument: -

Aifere ew Amfer AR fafie el tarst e s
A>(B>0C)
B>(C>D)/..4>(B> D)
(c) Prove the validity of the following argument by L.P.
1P forcsa STricey Fseare g taeret el waae
(Dv E)>(F>G) =
(~GvH)>(D-F) /.G

(d) Use the method of Indirect Proof to prove that the following statement is
tautologous. ; :

AATF 2 Aa (S I @ It (@ fnfeRe Am i Fosie |
A=[4-(4v B)
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(e) Use the method of Conditional Proof to prove that the following statement is
a tautology: j

AT 2 1T I 2B Al G e vl T
[4o(B-C)o{[Bo(D-E)]> (4> D)}

Group-B
faemt-2

6. Test the validity of the following arguments by Venn diagram indicating the
mood and figure of each of them.

2fefba € ¢ wmam Srae a fAefelRe Ifeelnm csafbrar M et [Row
AN : ‘

(a) This syllogism is valid, for all invalid syllogisms commit an illicit process
but this argument commits no illicit process.

@2 b t3y, e e Sy T W3 A& 706, € @2 e @ S
eifeat w1

(b) There are handsome men but only man is vile. So it is false that nothing is
both vile and handsome.

e #fFT Wity, 58 FIEg 7R A5 e oAk, @bt ey @, 97 &
2 @ A5 @ el

(c) All worldly things are transitory, because no worldly thing is non-material
and no material object is non-transitory:
IR AR e ARG TN, TR @ AR TR TG T, A A GG #Anie
-G TAe 71

7. (a) What is meant by ‘Existential Import’ of propositions? Do all categorical
propositions have existential import? Critically discuss with reference to
traditional logic and modern logic.-

/R AGS @A’ 900 F @RNT 2 77 [=eers e [ e e =g 2
TSP @ 7y S RW)! SRR A FCA |
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(b) Give Boolean interpretation of the following sentences and represent them 2x3
in Venn diagram:
 ffeiRe At 38T s aemt st cwﬁ%czrwm
(i) There are white tigers.
Al I IR
(u) All students are clever and 1nte111gent
e RIq 24 BIeT< @ el |
(iii)) All Non-S is P.
A% Non-S ¥ P

8. (a) Explain with example the principle of Universal instantiation. - . 3
A HEiaet forfb Swreerz 1= et
(b) Construct formal proof of validity of the following: (Any three) 4x3
fefiie feelm wwmare taxet emid i (@-@IE! foai)
(i) (x)[cx o (Fx v Kx)]
(x) (Fx > Nx) .
(@x)(Cx - ~Nx) /- (3x) (Cx - kx)
(i1) Doctors and lawyers are professional people. Professional people and
executives are respected. Therefore doctors are respected.

TS ¢ SiRAGIat e e | It ez T Ifeat s | Foar
Gl T |

(iii) (x)Fx > Gx)
(3x) (Fx - ~Gx) /.. (x)(Gx o Fx)

(iv) Some Photographers are skillful but not imaginative. Only artists are

photographers. Photographers are not all skillful. Any journeyman is
skillful. Therefore not every artist is a journeyman.

g FHRPR T e FEAERE TN @EwE MR FoEEE K
TFCOIEPIR HF 72 | (F-CPICA TP 3w | oaie 3 W Eelfeieitg =11

9. (a) Symbolize the following sentences by using quantifiers, variables etc.: 2x3
fasfeie Aafie s, Iieaies Topifia MR e i
(i) Agirlis héalthy if and only if she exercises regularly.
@b (T YS! 2 I 9k (Feig 7w o fzfeeica i e
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(i1) There is nothing made of Gold that is not expensive.
el ffife asm et & @2 =t vt ==

(ii1) Hume was a sceptic.
28w e AT |

(b) Determine the invalidity of the following arguments by the method of truth =~ 3x3
value assignment: '

T SR 7El e Joefm sitage! e i
i () {[Ex-(x v Tx)] > ~ Sx}
(3x) (Ex - Ix)
. (3x) (Ex - Tx)
~(x) (Ex o~ 8x)

(i1)) Bus Drivers and tram drivers are duty conscious or attentive. All tram
drivers are not duty conscious. Therefore there are attentive bus drivers.

A BIRSE GR T UIRSR ToRR FOI HHOA WA WA R BN
TSR FEY HHS 73 | FSIR TN I WIS SR
(iii) (3x) (¥x - ~ Xx)
(Hx) (Wx-~ Yx)
- (3x) (7x - ~ Xx)

| Group-C
fastot-at

° 10. Explain the Method of Concomitant variation showing its forms and 15
examples. :

Gwtel fica @ SRR (TR T2 SIfREH oS TG

11.  What is Hypothesis? Explain the criteria used for assessing the worth of 4+11
hypothesis.

2FE 1 ? AT TR Nanef i FEN
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12

13.

Write short notes on the following:

e Ranefem Som e Bt @t

(i) Seven steps that constitute the scientific method.
el Amfon el w1

(i1) Mill’s method of difference.
filtera IS Awfe

Calculate the probability of the followmg cases:
e craefem serret fda et

(a) Four men have their houses in four corners of a square. They spent one

evening in the centre of the square. At night each person went back to one of
the houses, no two going to the same house What is the probability that
each one reached his own house?

IRl (511 G0 Sl 2B HIACPINR HIRMG AT AT | G FER Ol
TR SBER NN 0 FOR | S O &ATOJF GF @I {6 (PN A0S e
JA— @A 1o @2 GF IOITe GIeF 711 2oy fes [res Adite G
TGRTS! I 9 '

(b) An urn contains 27 white balls and 40 black balls. What is the probability of

getting four black balls in four successive drawings?

(i) If each ball is replaced?"

(i1) If the balls are not replaced?

3 =lica W 33 T 39 @ 8ofS FicaT 751 wTR) e S T o e
BIRIG e I L SIS T M-

(F) @S 30 GreT W G (ReT 2T 9

(¥) @3 =T gret 36 A T =W 9

(c) What is the probability of getting at least one tail and at most one tail in 3

2105

tosses of a coin?

QWWWWWW uﬂwa«mﬁawwc%a%ﬁ
SRS F© ?

7.5+7.5

5x3
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